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4 (Sem-6/CBCS) HE 1 (FOI)
2023
COMMERCE
' ( Honours .Elective)
Paper : COM-HE-6016
t Fundamentals of Investmentﬂ)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :

1x10=10
RIS oie frpes Tes 34 ¢
(@) Write the full form of CARE.
CARE 3 i Swith! ferat |
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(b)

()

(d).

Which of the following is an example of
-financial derivative ?

vt AT (@l [elw fSaizrees
TuIZEd 2

() Share (i)

(ii)) Debenture (59)

(i) Forward contract (TSt pfe)
(iv) GDR (ffoos.)

(Choose the correct alternative)

(&% [pscor Afs Sferedn)

Who is the propounder of dividend
capitalisation model ?

TN T O T (2

(i) Myron J. Gordon (W29 (%, 51G+)
(i) David Ricardo ((efen Remirst)

(iii) Adam Smith (SIwI )

(iv) John Stuart Mill (7 375 fier)
(Choose the correct alternative)

(7 [eseor > Bfean)

On which date SEBI introduced
compulsory trading of shares of listed
companies in ‘DEMAT’ form ?

4 (Sem-6/CBCS) HE 1 (FO/G 2

(e)

(9)

(h)

‘GR @ @Rl Sifve wifFeee @iTE
SIHATE (T TG TS TSR 50 2
(i) 1st January, 2016
) IS Avealh, 200017
(i) 1lst January, 2018
(iv) 1st April, 2019

(Choose the correct alternative)

(5% [FEC! A5 Clersdn)

Who is the regulatory authority of
Indian securities market ?

SRS UM ISR R TR (2
NAV is a fund per share market value.
NAV %l 3G9 361 2o 9ol AfE |

(The statement is True/False)

(Sf&o o7/ 9%%)

“Securities market is a market for
equity, debts and derivatives.”

“gfoefc qET T ANXI#E, I A% TEo

fsias T@e 7
(The statement is True/False)

(Of&or 9%/ 99%)

Bond is a risk-free security.

70 Ry Rel okIREN afeefs |

(The statement is True/False)

(Sf&chl &%/ 5795)
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2

(i)

0)

SBI mutual fund is the first public
sector mutual fund in India.

o= TrEer dfe T oEes @AW

e YeT TR e |
- (The statement is True/False)
(Sfethl oo/ 5o%)

Investment in .equity. is safer than
bank fixed deposit.

AT R e i et @R
== |

(The statement is True/False)

(Clets! &%/ qe%)

Answer questions of the following in about

50 words each :

©Oiq

2x5=10
T ATOIRCI A o i T *i%q [owqe el

98

(a)

(b)

Give the meaning of equity share.
220! S ol fr |

tate any two risks associated w1th
bonds.

9] O GYo R 75 Row sl

()

T 4 |

}?xplain any two types of financial
derivatives.

Ricprcs 72 2iea Re Tub w1 ==y 741
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(@)

(e)

Write fwo functions of SEBI.

oRE 75 FReT B

Explain any two assumptions of
technical analysis.

ifeal e 767 €=en 00 4|

Answer any four questions of the following

in about 150 words each :

5x4=20

o4 farpical bif<6 2R ATOTE A dEo B W
*arqg fooge Teg ol ¢

(@)

(b)

()

(d)

4 (Sern-6/CBCS) HE 1 (FOI/G S

Explain the structure of Indian
securities market. '

eReT afeefe e aiof 3t i
Write a note on price earning ratio.
P.E. Se#iies 8oe @b GRpl Bl |

Describe the factors affecting the
choice of mutual fund.

ToreEl sftw FHivTe eite 4
TAMIPTIR SCETD T |

-What do you mean by fundamental
analysis ? What are its objectives ?

cife Fomd 3EE & 3o T SEiER
[ F4
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(e) Write any five functions of stock

exchange.

feral |

State any five features of bond.

Q4T [P Aeeio! ([T S 4 |

Answer any four questions of the following

in about 600 words each :

10x4=40

©HE [zl BIfR5) oHE STOiE 2lF oo B
e foogw et ¥4 ¢

(a) Explain briefly about different types of

(b)

investment stating their advantages
and disadvantages.

el o SRR Ui I [fen i
RfNca T e W [ |

Do you think that credit rating is an
important service for the investor ?
Justify your answer.

REGRISR 7oR aE @ es @B o)

eI (R 9 Ol Reawat st o

Teqd TS I 9RHET |
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(©

(d)

(e)

. What do you mean by mutual fund ?

Discuss the different types of mutual

fund. 2+8=1_O
SrRerl ffer Ife & e [fey aees
Tre R AfeeEg S 4 |

Discuss the role played by SEBI in the
protection of interest of the investors
in Indian securities market.

=il JafFEFe F9aE SEBI @ 9% <1 ol
B GIPRIRSEI

What are the basic features of
financial derivatives ? Also state briefly
about the major participants in
financial derivative market. 5+5=10

e faizreibes T EHEYER & &2 [en
Taizrebe oRT 6 SHATIRN] T[S
R H3C It T

What is efficient market hypothesis ?
Discuss about the different forms' of

efficient market hypothesis.
SR <@E gl 2 IR TG ASAR
GICERRERE RS A el 4 |
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(g9 What do you mean by bond ? Mr. X
purchased a 10% coupon rate bond.
The bond have a face wvalue of
Rs.10,000 and maturity of 4 years. If
the current market interest rate is 8%,
find the value of the bond using
present value method.

If the current market price of the bond
is Rs.9,000; state whether X should
sell it or hold it till its maturity, along
with the reason.

(Present value of Re.l at 8% discount
rate is as follows :

1 year — 0.926, 2 years — 0.857,

3 years — 0.794, 4 years — 0.735)
B X @ 10% 399 T 998 @ I@ | @3
3¢5 [k &7 10,000 51 W= W 4 75|
3t TG BeTS ST T 8%, TG 7 (S
TRRF IR 199 T [effaet

I 999 BfeTe IW W 9,000 T =, X @
¢ [Pl =G Uhe =w e St

RICG! T 29|
(8% 3T 2q© 1 Tl I 7 were fora
T 3

19 928 — 0.926, 23 I/ — 0.857,
3% I — 0.794, 49 I8 — 0.735)
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4 (Sem-6/CBCS) HE 2 (CACC)
2023
COMMERCE |
' (Honours Elective )

Paper : COM-HE-6026
(Consumer Affairs and Customer Care)
Full Marks : 80
Time : Three hours

The figures in the mar:gin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

Answer the following as directed : :
1x10=10

oo faIERe o Sepf See i ¢

(i) In market, price of goods and
services is fully controlled by one seller.
(Fill in the gap)
GRS, T SR CRN T 7)ot
G Ritereiz WREd FE 1 (AT AT 979 F]0)
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(viii) In case of death of a consumer, his/

(ii) The term describes the handling.
of customers’ complain within a her legal heir can mak.e the comple;in.
company. (Fill in the gap) - (Wrternicior oksd)
: ‘ & SR Y L (96T Wizl TEAIRBRIE
sz Ssife @R foes ool 2
2 i qf% o 5:1(;':;&7? :g G FG FE AIE | (9% (7 9% f7130)
i S | (ix) Write the full form of FSSAL
(i) Write the full form of IRDA. | PSSALS i eldB Bl |
[RDA =4 <1 ] , (x) How many members are there in the
(iv) Which standard mark is printed on gold Board of Governors of ASCI ?
jewellery ? " ASCIH AREES eEe [FReH ) AE?
G e (@l T oz =il F =2 :
- ] o ' 9. Answer the following questions : 2x5=10
(v) is the highest price that can be ' e W S
charged for a product. (Fill in the gap) 0 V&}hat S i
2@ A T AT B T 9T | o
fRiad SR A Sl 7 : ; '
§ éﬁ‘a@' ) (i) State the meaning of local taxes.
(vi) What is the pecuniary jurisdiction limit ‘ i 75 o Tl
: : LAl
fi istri 2 .
Rttt o (iti) Write two powers of Central Information
= S e afeaeT s e 2 Commission.
(vii) Professional Tax is levied and collected R ©2 SRR 01 frt
(iv) What is Insurance Ombudsman ?

by whom in India ?

TREY (I e 79 A4 o A7 I ?

| EAE e
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(v) Write about National Consumer
Helpline.

G ToeIel (ZEEiz [ |

3. Answer any four questions from the
following : 5x4=20

©oTS TGRS 781 KAz oiane Ses fei ¢
(i) Distinguish between goods and service.
T 9IRS SIS A1y 72|

(i) Explain the consumers’ rights under
Consumer Protection Act, 1986.

TATSIG! T W, S5bu- Al
TATOIER SRR 90 1|

(i) Explain five causes of dissatisfaction
of consumers.

SIS SPTRfi 2155 e <) 71

(iv) Explain the process of complaint
registration under banking ombudsman

scheme.
R GRS SIS SRer)
S AG T
AT It =51 | %

4 (Sem-6/CBCS) HE 2 (CACC)/G 4

(v)

(vi)

Expléin five objectives of ASCI.
ASCI= /60! Sty iyl 31 |

Explain the role of consumer
organisations in the protection of

consumers.
TACOIG] TTHRE (Fqe GATOIG! A9 SReT
oSl el | '

Answer any four questions from the
following - 10x4=40

weTs il RS A9l Reea BifablT ed i ¢

(1)

(1)

4 (Sem-6/CBCS) HE 2 (CACC)/G S

Discuss the evolution of consumer
movement in India.

SISICEEE I AC) ke I [ B SIS S W g 6
ST 1|

Explain the nature of market. Briefly

discuss the functions of packaging.
S+#5=10

TG 2T 0 1 | CBICAAISIREReT Pl
B ST T
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(iij) Discuss the functions and powers of 7 (vii) Discuss the consumer grievances
TRAL 5SS redressal mechanism by FSSAI

TRAHWWWWWWI AP o ey oy FSSAIG o= <1
| S ST 31 |

(iv) Explain the characteristics and

advantages of monopoly market.
5+5=10

G5O AGIRS (AREY s R 3k 51 |

(v) Discuss the procedure for filing and

hearing of a complaint of a consumer.

GG TorOISI] TG R SIS: SRS Aaoo!
RIGITIRSIN
(vi) Discuss the role of Supreme Court

under CPA Act, 1986.
Torere! AT i, SabuF SENe T

TR S ST 1 |

(vii) Discuss the merits and demerits of
Maximum Retail Price. 5+5=10
AR Bl Tl Rl SN SHRETR el
Sl
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4 (Sem-6/CBCS) HE 3 (ACA)
2023
COMMERCE
(Honours Elective )
Paper : COM-HE-6036
(Advance_d Corporate Accounting )
 Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese,

Answer the following as directed : I1x10=10
il eerfs Teq forai ¢

() The IASB was previously known as the
Indian Accounting Standard Committee,
(State whether the Statement is true or false)

IASB-% *[% @181y Rt s 53 R/
Gl ColfeeT | (8% 1 qo5 7))
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(@)

State the meaning of corporate annual
report.

@R A aformr o Tl

(r) The liquidator is entitled to receive his

remuneration after payment of

EeXPEnses.
(Fill in the blank)

SRS (o6l AifEfiE I
SiRTely I Pigs AR (T 912 4T 79

(iv) Creditors can proposec voluntary

(v)

(vi)

liquidation of a company.
(State whether the statement is true or false)

GRS Aol @rE G SRR
oW SIERGR A (%% & 9Eg &)

What is bank overdraft ?
@S ST N 2

Income on non-performing assets is to

be recogniscdionttT L hagig
-(Fill in the blank)

SHIGEGE] TG €7 (gel = i
fefee Figfe w1 =Ml | (37 12 279 71)

4 (Sem-6/CBCS) HE 3 (ACA)/G 2

——

(vii) What is bonus to policyholders ?
A4 A6 T &5 2

(viii) Annuity is an income for the insurance
company.
(State whether the statement is true or false)

T EINE A AR @[y o7 |
(%% & T@g &730)

(ix) What is investment accounting ?

fRfecziel f2oiet s = 2

(x) Profit earned prior to incorporation
cannot be distributed as dividend.
(State whether the statement is true or false)

Y- OE IAO TGe Fe e =i

Teqd Fla @RI | (%% & 98% [&530)

2. Answer the following questions: 2x5=10
oo MAERE Ued ol ¢

(a) Mention the major components of

financial reporting.

e eiforaw 2 ToAmEETR S 79|
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(b) - What is Liquidator’s Final Statement
of Account ?

SRAIRTS pore [gfe f=oiel & 2

(c) What is Statutory Liquidity Ratio
(SLR) ?

s weeTel Sgel® W & 2

(d) Explain the term ‘Life Fund’.

Gig ffer #mio Il |

(e) Mention two objectives of pr‘eparing

Investment Account.

BRI i aEe 91 75! Sorl) Tes 4 |

3 Answer the following questions : (any four)
5x4=20

wee AR Ted il 5 (R Bifbt)
(@) Write a note on IND AS.

' IND AS-¥ @7 5 (B

4 (Sem-6/CBCS) HE 3 (ACA)/G - 4

()

(©)

(@)

(e)

State the procedure of determining the
liquidator’s remuneration on liquidation

of a cdmpany.

9Bl (BN SRARTS SRR AiRERE
e == 2Tt S <4 |

Briefly explain about Rebate on Bills
Discounted’ in the context of banking

companies.

R @R CRae AT SreRt Kewm @2
a0 v il <=l |

Write a short note on re-insurance

claim.

Wﬁ?@ﬁ@ﬁ@?ﬁ@ﬂﬁﬂ_mmi

State the procedure of ascertainment

of pre-incorporation profit or loss.

Y- PG WS A A (RO W =
Zellett 3 35|

4 (Sem-6/CBCS) HE 3 (ACA)/G 5 Contd.



(v) Liquidator’s remuneration ¥ 4,000

SRS AR 4,000 5

\
() Mention the contents of Corporate |
Annual Report. ‘

|

|

(PR R efo@me g S 4 |
i i (vi) Preferential creditors ¥ 27,000
4. Answer the followin di . = ' '
; g as directed : 10x4=40 walifEsiage sAteamis 27,000 5l
: . The various assets (excluding securities
(@) XY Ltd. went into liquidation with the in the hands of secured creditors)
following liabilities : realised ¥ 25,000
XY Ltd. w&Te Tl (epRR Sfee s . fifew TS (TS AR SoRS TF
TICeT & o<t T Al ) ekl " 25,000 Tl S

o e

(i) Secured creditors ¥ 40,000
Prepare Liquidator’s Final Statement of

(Securities realised ¥ 40,000) "
T 40,000 54 ' | 2{1::0;:; ifizwing the amount paid 1’[;
(@ifs Fifes @mEEy 40,000 53) v ' _
. SRS PO 251 RS Coae i1 sAleamies
(i) Unsecured creditors ¥ 55,000 wiw i B sAfd S R et |
GIfFKEA “leqmE 55,000 5 Or/5%at
‘(m} Amount due to Workmen ¥10,000 State the features of IFRS and also discuss
PR W@l 10,000 591 the needs for adopting TFRS. 5+5=10
(iv) Liquidation expenses ¥ 2,000 [FRS-9 (ARBPRE GEd 4 O [FRSS
BTG ROPTE. SCEID 1 |

SRPIFAT 9 2,000 5=l
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(b) From the following information, prepare

the Profit and Loss Account of Royal Bank
Ltd. for the year ended on 31.03.2022 :
10

wed 3l ©UPTEE “Mi Royal Bank Ltd.-
31 15, 2022 SIS T2 T{BE Al G2
5] | ) O 257 M O T

Amount (¥)
Establishment Expenses 56,000
Bloiq T
Interest on Loan 3,00,000
HoF 82O O
Rent and Taxes _ 15,400
Gl TS 9

Interest on Current Accounts 30,000
bleTe f2pi7iE 82Ne o

Rebate on Bills Discounted -
on 1-4-2021 25,000.

qGiFe [ 87Te (723

4 (Sem-6/CBCS) HE 3 (ACA)/G 8

' |

Amount (%)
Interest on Cash Credits 4,00,000
T A @2 IO

Interest on Fixed Deposit
Account 3,00,000-

@?{Wﬁ%ﬁ@%ﬁ@

Interest on Savings ;
Bank Account 70,000

S [@F 2ol Jo

Commission and Brokerage 20,000

el S e

Discount on Bills Discounted 1,00,000

1 AGReR ev® AT
Interest on Overdraft 70,000
e 8AS O
Director’s Fees | 20,000
TS e

4 (Sem-6/CBCS) HE 3 (ACA)/G 9 Contd.



Amount (%)
Profit on Sale of Land - 2,000
ofil Rl e7F© e

Transfer to Central Government 5,000

@@ S B

Other Expenses 50,000
Sy <A

Or/ W?fi’?’

Explain the following terms in the
context of banking company : 5+5=10

e RIIT epiRers T Tl TR
g 40 8
(i) Non-banking Assets

SH-(F AAE

(ij) Statutory Reserves
ffsa e

From the following information prepare
Fire Revenue Account of Newstar Fire
Insurance Co. Ltd. for the year ended
on 31st March, 2022 : 10

4 (Sem-6/CBCS) HE 3 (ACA)/G 10

oo Al WAES 7§f Newstar Fire
Insurance Co. Ltd.-g 2022 559 31 53]
R B PR S [ RPN R B0 R PR I

Amount (¥)

Reserve for unexpired
risk on 1st April 2021 52,000

1-4-2021 wiffxe 737 Tiedifze
iR JEE A

Additional reserve
on 1-4-2021 SRR 2100E

1-4-2021 © SRS

A S

Claims paid 60,000
wiql SRy Wit
Management expenses 25,000
Legal charges regarding claim 3,500
7 R ke 3w

Premium received 1,15,000

i okt e

4 (Sem-6/CBCS) HE 3 (ACA)/G 11 Contd.



Amount (%)

Interest and dividend 6,500
A9 I TefIRH |
Income tax on interest |
and dividend 700
S < FIHT ST WY
Reinsurance premium 7,500

s T2

Profit on sale of investments 1,200
s e oo e

Reinsurance recoveries 2,000

SR NE CFIS

Outstanding claims : (9278 W<1)

on 31-03-2022 9,000
| on 31-03-2021 6,500
Commission on direct
business 15,500
- Commission on re-insurance
accepted 2,500
ofTIIINIG TE 2Afg

4 (Sem-6/CBCS| HE 3 (ACA)/G 12
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Amount (¥)

Commission on re-insurance
ceded 3,500

AN N i
" The company calculates its reserves for

unexpired risks at 50% of the net
premium each year and maintains

additional reserves at 10% of net

premium annually.

91f%S T (FAAINITOIE AT o]l (Tl AR
M4 oIS fRIREER 6798 50% SI<: SfoE A

sifer A 10% 4R T |
Or/S441

Discuss the books of accounts to be
maintained by Insurance Companies.

Tl @rARERCR SR el SR
[EREASGITIESIT

(d) SK Ltd. was incorporated on 30th

September, 2020 to take over the
business of XYZ Ltd. as from 1st April,
2020. The financial accounts of the
business for the year ended on 3lst
March, 2021 disclosed the following:

Contd.



2020 574 30 (5T&FTS SK Ltd. SEIg® (2%l | Or/ /44!
1 @fére 2020 IR #R1 B RIS XYZ | On Ist April, 2022, X Ltd. had
Ltd.< I OfEae SR 31 M6 20219 Rs. 3,00,000, 12% Government Stock
- AR 257l 32 SRl OEE OAFTR (AN at Rs. 94 (Face value Rs. 100). Interest
ol ¢ ] is payable half yearly on 31st March
Amount ()| Amount (7 and 30th September. The company sold
Rs. 60,000 of the stock at Rs. 95 ex-

Revenue from Operations : |

1st April to 30th September, 2020 1,20,000 | interest on 1st ‘JuIy, 2029,
1st October to 31st March, 2021 1,80,000| 3,00,000 i
T oaa =) : : | 1 9fEeE, 2/022 :\-3 X Ltd.¥ 3,00,000 53
Purchases : (&%) ‘- 12% (% BF 94 ol e (ke 5T
Ist April to 30th September 2020 75,000 ’ | 100 5<b1) Tg© e | BT 9 31 =6
1st October to 31st March 2021 1,20,000| 1.95.000 : 30 (HrEFTO O AW ifEET | I -
Gross Profit : (I &) 1,05,000 ' 2022 579 1 GEIRS 60,000 5 TS 2SO
Less : (AM) 95 Bl W99 1O 4@\5\9 ool &) S |
Salajries ) F 200 ¢ Prepare 12% Government Stock
Sellmg.ex'penses Sahi S | Account in the books of the company
Depreciation (S) 1,500 ‘
Director’é remuneration (F6FER AREEF) 750 - ‘ for the Year ended on 31st March, 2023.
Debenture interest (474 o) 90 Ignore income tax and brokerage.
Rent and Rates (4Gl & 2F) 4500 24.840 ' mmnfﬁg a—a@ 2023 B 31 I SO
Profit for the year (T=GH #S) B 80,160 ' T AIE 12% e Ty L m——
Prepare a statement showing the profit - ) SIEa S A 4 B e |

made before and after incorporation. 10
HIge RE R W Brg sed Ak
(TR 93 e Zee 3|
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Total number of printed pages—4
4 (Sem-6/CBCS) HE 6 (BRMPW)
2023

COMMERCE

(Honours Elective )

Paper : COM-HE-6066

( Business Research Methods
and Project Work )

Full Marks : 50
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer any four of the following as
directed : © 1x4=4

(i) All the items under consideration in
any field of enquiry constitute a
(Fill in the blank with appropriate word/
words)

(ii) A complete enumeration of all
the items ~ in the ‘population’ is
known as a sample survey.

(State whether the statement is True or
False)

Contd.



2.

(ii) Research is actually a voyage of

discovery.
(State whether the statement is True or
False)

(iv) The hypothesis is generally

symbolized as H1. (Fill in the blank with
appropriate word/ words)

(v) The first step in any Research Process
is ; (Fill in the blank with
appropriate word/words)

(vi) errors are absent in a census
survey. (Fill in the blank with appropriate
word/words.

(vii) Secondary data are those data which
have already been collected and

analysed by someone else.
(State whether the statement is True or

False)

(viii) Census survey is impossible in the
situations when population is infinite.
(State whether the statement is True or
False)

Answer any three of the following
questions : 2x3=6

(i) Briefly explain the meaning of
hypothesis.

4 (Sem-6/CBCS) HE 6 (BRMPW)/G 2

(ij) Mention any two objectives of Research.

(ii) What is a Research Problem ?

(iv) What is the meaning of ‘Laboratory
Study’ ?

(v) Write the meaning of Sampling.

(vi) Briefly explain the meaning of Likert
Scaling.

Answer any two questions : S5x2=10

(i) Briefly explain the qualities of a good
research.

(i) Briefly explain the concept of ‘Unit of
Analysis’.

(iii) Write a note on Observational Method
of Research.

(iv) Write a note on Chi-square test.

Answer any three of the following
questions : 10x3=30

) What do you mean by research ?
Explain its significance in the modern
times. 2+8=10

4 (Sem-6/CBCS) HE 6 (BRMPW)/G 3 Contd.



(i) Explain the various steps involved in
Research Process. 10

(iii) Describe the techniques involved in
defining a research problem. 10

(iv) Explain the basic types of research. 10

(v) Explain the advantages and limitations
of Likert scale. 5+5=10

(vi) Mention the various sources of
Secondary Data. Explain the
precautions that should be taken by a
researcher before using secondary data.

5+5=10

4 [Sem—ﬁ/CBCS) HE 6 (BRMPW)/G 4 3000



